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)

@ The reaction caused by the burning of butane-in air.is represented by
the following equation: N
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"', -During a laboratery experiment you reacted 29 g of butane (C,H, ) in the presence of
oxygen. What mass of oxygen was needed for this reaction?
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@ What mass of carbon dioxide is needed in the neutralization of 100 g of nitric acid given
the equation:
_ 2HNO ]+ CaCO, — Ca(NO,),+ H,0 + CO,
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3) Calculate the mass of sodium hydroxide that neutralizes 14.7 g of sulfuric acid. The

equaﬁoﬁ of this reaction is:  Hnt: Bégin by completing and balancing the chemical equation!
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Iron, Fe, and carbon monoxide, CO, are produced when iron oxide Fe,O,, reacts with
carbon, C. You would like to produce 50 moles of iron. What mass of iron oxide is

required? Fézos +3C 5 &Fe. N 3C.O
—— A
| mole - Amole Ll
- A SO0moles - m-n'/uém)
RLO wm < 3-5 o
X = DSmoles 3 m= ‘10003

Octane, C;H,,. is one of the main components of gasoline. When a car engine is running,
octane burns by reacting with oxygen gas, O, in the air. Carbon dioxide, CO,, and water
vapour, H,0, are produced during this combustion reaction. The balanced equation for this
reaction is;
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The car engine ran for a certain period of time and 57 g of octane were burned. What
mass of carbon dioxide was released into the atmosphere?
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One of the substances responsible for acid rain is nitrogen dioxide (NO,). In the
atmosphere, nitrogen dioxide reacts with water vapour in the air to produce nitric acid,
HNO,, according to the following balanced equation:

3NO, + H,0 — 2HNO, + NO
—— —

If 1000 g of NO, reacts in the atmosphere during a certain period of time, what mass of
nitric acid is produced,?
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In industry, water vapour is decomposed by passing the water vapour over hot iron.

3Fe + 4HO — Fe0, + 4H,
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The iron reacts with the water to form an oxide of iron, Fe,O,, and hydrogen gas, H,. What
mass of iron is required if you produced 2 moles of hydrogen?
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By burning methane, CH,, in air containing oxygen gas, O,, you produce carbon dioxide,
CO,, and water vapour, H,0. You are to burn 192 g of methane. What mass of carbon
dioxide gas will be produced?
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How many grams of carbon would be needed to produce 6 moles of Iron ?
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